
Nom: CléDétermination de la valeur de la variable pour équilibrer les équations
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Réponses

1. 4

2. 10

3. 8

4. 4

5. 8

6. 4

7. 7

8. 3

9. 6

10. 10

11. 8

12. 9

Trouvez la valeur de x.

1) -5x + 53 = 89 - 14x

9x = 36

x = 4

2) -3x + 119 = -5x + 139

2x = 20

x = 10

3) -1x + 67 = 83 + -3x

2x = 16

x = 8

4) 18 + 2x = -4x + 42

6x = 24

x = 4

5) 52 + -3x = 132 + -13x

10x = 80

x = 8

6) -1x + 80 = -10x + 116

9x = 36

x = 4

7) 45 + -3x = 59 + -5x

2x = 14

x = 7

8) 7 + 4x = -5x + 34

9x = 27

x = 3

9) 29 + 5x = 59 + 0x

5x = 30

x = 6

10) -1x + 82 = 142 + -7x

6x = 60

x = 10

11) -1x + 86 = 142 + -8x

7x = 56

x = 8

12) 1x + 10 = 46 - 3x

4x = 36

x = 9
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Trouvez la valeur de x.

10 4 6 4 3

4 8 10 7 8

1) -5x + 53 = 89 - 14x

9x = 36

x = 4

2) -3x + 119 = -5x + 139

2x = 20

x = 10

3) -1x + 67 = 83 + -3x

2x = 16

x = 8

4) 18 + 2x = -4x + 42

6x = 24

x = 4

5) 52 + -3x = 132 + -13x

10x = 80

x = 8

6) -1x + 80 = -10x + 116

9x = 36

x = 4

7) 45 + -3x = 59 + -5x

2x = 14

x = 7

8) 7 + 4x = -5x + 34

9x = 27

x = 3

9) 29 + 5x = 59 + 0x

5x = 30

x = 6

10) -1x + 82 = 142 + -7x

6x = 60

x = 10

Réponses

1. 4

2. 10

3. 8

4. 4

5. 8

6. 4

7. 7

8. 3

9. 6

10. 10

1-10 90 80 70 60 50 40 30 20 10 0
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